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QUESTION 1

What Event Coordination option must be implemented in the Collector node so that message collections are propagated
in the order they have been completed? 

A. All complete collections 

B. First complete collection 

C. Disabled 

D. FIFO 

Correct Answer: A 

 

QUESTION 2

When using a GroupScatter node, which terminal allows logging and debugging of groups? 

A. Catch 

B. Published 

C. Group Created 

D. Out 

Correct Answer: C 

https://www.ibm.com/support/knowledgecenter/SSTTDS_11.0.0/com.ibm.etools.mft.doc/bc04740_ .html 

If the Group created terminal is wired, a message is propagated down this terminal, with the detailed group information,
after the group has been committed. The purpose of this terminal is to allow logging and debugging of groups. 

 

QUESTION 3

What is the best practice approach for storing shared development resources? 

A. Libraries 

B. Message Map 

C. Tables 

D. Files 

Correct Answer: A 

 

QUESTION 4
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What are two mechanisms for storing user permissions to enable administration security on the Web Console? 

A. OAuth 

B. LDAP 

C. File 

D. Queue 

E. YAML 

Correct Answer: BE 

 

QUESTION 5

What are two nodes that require IBM MQ to be installed on the same machine as IBM App Connect Enterprise? 

A. GroupGather 

B. FlowOrder 

C. Collector 

D. Route 

E. Resequence 

Correct Answer: CE 

https://www.ibm.com/support/knowledgecenter/SSTTDS_11.0.0/com.ibm.etools.mft.doc/bb28660 _.html 
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